Assignment 6

Explain why the sky is blue and the setting sun is red?
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For s polarized light, plot, the reflection and transmission coefficients for
incident angle between 0° and 90°.
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Explain how Polaroid sunglasses

work.

y el L

ne1 W/Zw«/- ar m/@@e@m Lo Y cw—r‘/dm)

J%WWQ

ol Flaranidtid. P patasmyd
Qgrews‘f@r "a JW » M/étz‘/

; Heves, ypé,we,« tereaie

p prolaniyed Ll gloce o iobuesd!

Calculate Brewster’s angle for a light ray travelling in water incident on a glass

surface,
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Consider an elliptically polarized light wave having the following electric field.
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